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prohlblted,

correspondmg to the same questmn number on the OMR sheet.
. . Darkening two" clrcles for the same quesuon makes the answer 1nval1d

Damaglng/overwrltlng, using whiteners on the OMR sheets are. strlctly

- with the‘optimum product deslgn

D1g1tal representatlon ofa phys1cal object ata certain moment is

a): Digital Thread - - - ' b) Dlgltalswlh ot g
- ¢) Digital product :

.

d). No*ﬂe of these

refers to the sharmg of product hfe cycle data up and \‘down the extended

supply chain,
a) Digital thread ) b) Digital Twm
¢) I0T o LG d) Generative AT”

This technology allows engineers to’ examine a vanety of design options and come up‘

a) Additwe manufacturmg B) 3D printing/ s

\ The benefit of Aerospace engmeermg d1g1tahzat10n 1s, e
a) Reducmg productlon costs b) lmprovmg the quallty of ﬁnal product e

yyyyyyy

a) ngh cost b) Lock of digital talent

©) Resistance to change * d) All of these

Possible solutions to resistance to change are,

a) Develop own solution to overcome resistance
b) Facilitate training of employees

¢). Both (a) and (b) :
d) ‘None of these
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EOTAl T evaluation simulates hacker’s attack in a web ite or network and detects
._vulnerabilities and weaknesses in them.
) ‘White hat

c) Blue hat

3 8. rLlne mamtenance is also known as,
% a) - General maintenance-
c) Heavy maintenance

- ICAO refers to, v

" a) International Commercial Aviation Organization

b) Indian Civil Aviation Organlzat1on !

~¢) International Civil AV1at10n Orgamzatlon

d) Indlan Commermal AV1atron Organization

o Tk . &

10. Pre ﬂrght Inspectlon isc “nducted by,
S ey’ Pilot,
' c) Ground Staff x

‘5‘”

When did the 3“§§Tndustr1al revolution pron
Coe8). 1950°5 8¢
¢) 1970’

d) Purser

12,

manufacturrng industry?’ ~
“a) 2013 | b)2014 g

13. Which country governn'fent mtroduced the Industry 4.0 concept?
. a) United states of America LY
.¢) Germany - i

14. Who invented é’sserfiiﬂy line?

a
i

) John D\Rockefeller

.+ 15. This company was the first.to utrhze robotics system in the production line,
~ a) Ford motor Co. o )

) b) Volkswagen
P General Motors “"d) Toyota

‘ e‘ Internet of

¥ § (I0T) clients to real time data and the mtroductrd of f‘.‘yber-w

‘physwal systems k the big change for this era, R
4y~ 3% Industrial revolution .~ b) Industry.4.0

; c) Manufactunng Age : d) .Industrial revolution .

- 17.. TIOT stands for. , , | |
. 2 Industrial Internet of Things ; ‘b) Internet Internet of Thmgs
o Intelhgence Internet of Things d) Internal Internet of Thmgs

What are the object es of Industry 4.07
a) Enabled selfgcontrolhng , . b) Increase efficiency
/c) Reduce complexrty 7 d) All of these




T -

29 ( . What are the”applications of Alin Airbus? - L™
- a) Improve the productivity of the manufacturing process.
-~ b) Improve the amount of raw materials requir. ’

i ‘2‘1.}7_IIOT can be used in manufacturing Industrles to understand When machlne needs
.+ servicing which _ downtlme ' : T

-9 ,Reduces "o ‘ :},' : b) Increases j, SNy

e C) - Remains same R :;: 4 d) Cannot be dEtCmned

23,
24,
25,

26.

28.

29.

30.

" ¢)  Trained personnel

- d) Minimize the time required for production

T"Whydoweneed;’ dustry4 02 g:i gou PR N R
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What are the electrical components of a smart factory?
a)  Smart machines b) People at work

¢) Decrease the cost of per unit product

The D-Check i 1s heavy mamtenance connected w1th deep a1rcraft

a) Disassembly b) Structure inspection
¢) Anticorrosion Insp d) All of these

&

What are the essentlal components of a smart factory? . . Bl b e

~a) Smart machmes b) People at work

c) Tralned personnel . \ &d) All of these

Whlch& ;sfare of the automatlon pyrannd of a smart factory‘7

c) Manufacturmg Execution system

thkart 1s looking at I'ObOthS to improve efﬁc1ency m | T
a) - Production b) Delivery Vel
c) . Warehouses  d).None of these e

«««««

a) Superv131on Control and Data Acquisition
b) Supervisioniand Control of Data Acuire

¢) Supervisory Control and Data Acqulsltlon | Ay
d) Noﬁe "of these

b) Performance Legie Controller
:«d) Programmable Logic Controller

a) Detecting’ maehme failure b) Preventing machine failure
c) Improvmg safety \ d) All of these

ILS stands for

a) Instrument Landin b) Intelligent Landing System

" ¢) Inner Landing System d) None of these
CPS refers to, V | : I i G e
a) Centre Physical Systems . b) Cyber Physical System SR el

c) Center Portable Systems d) None of these
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" Aircraft maintenance is divided into three tiers : =
a) = Line mainténance b) Base mainte
. ¢) Depot maintenance d) Allofth

SB stands for e

A e @) * Service Bulletins b) Short Bulletlns
C c) Service Basics o ; d)hSh it Basics

" AMM stands for
a) Aircraft Manual and Maintenance \
c) Ancraﬁ Mamtenance Manual

‘) Aucraﬁ Mmmum M
) d) None of these

e B34y Mamtenance Interval most common in old aircraft is,
‘ a) ' On-condition b) Hard time«
. ¢) Condition monitoring e d) None of these

s !
F

b) Pa 3;:111 Control
, d) Part‘ivin Command

. " PIC stands for
a) Pilot in command -
c) Pllot in Control

‘ﬂ

- 36. “The whole demgr‘rphﬂosophy of an ancraﬁ is termed as

; a) - Anatomy » " +b) Design of Evaluation
/ 2 c) De51g wheel J " d) Sizing
S ;~‘37,: What i Js ‘meant by Lofting? b
o a) Cohceptual design LN b) Mathematical modeling of skin
0) Spec1ﬁcat1on and requirement d) None of these A ,
o 138.' Initial phase of an ancraﬁ demgn 18, :
a) = Conceptual design \ 7b) Prelnnmary design,
o c) Detail de51gn £ ,d) Sizing P!
2439, What is FBW?4, N id
~a) Flyback wite system " 'b)Fly by wire system

~¢) Flight Board wire d) None of these

By

S 40,
: ) D1g1ta1 Twin
~ e) Internet of Things ¢

b) D1g1ta1 Thread
d) Block chain

How does Rolls-RoyI""""“ mprove rehablhty in axrcraﬁ engines?
* “a)  Predictive maintenance < . b)Prescriptive analysis
] c) Deploymenti f Valuable devrces ‘ d) All of these

. "‘42 Wh1ch of theamentmned resources is not managed by a Company s KRP syste s
T a) Wages: of workers AL  b) Stock of material - L —
: .;,c) Credlt balance of the company d) Passport data of CEQ +%2

) 2In. IIOT apphcatlons pressure sensor is used to measure, _
5 ja) ‘The atmosphere pressure indifferent geo graph1cal locatlon
e e pressure in hydrauhc system

" c) ‘Both(a)a )
d) None of these -
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48.

49,

50. -

A OEM stands for
a) Overall Equipment Mamtenance ;
,.c) Original Equlpment Manufa t rer

Which of the following
“a) CASA

2 Fmd the alternate name for rapid proto typmg,
o a) Additive manufacturing
Shig) Direct CAD manufacturing

5. “In Indla which orgamzatlon provides approval fo"‘
S a) EASA ’

b) FAM

MRO stands for
a) Man Repair and Overhaul

L ¢) Maximum Repalr and Overhaul

DGCA

The main goal
a) -~ Airworthiness,
c) Operatlon ‘

MPD stands for

a) Mamtenance Planning Document

¢) Minimum Planning Document

w

: f‘?‘b) Maintenance Repam@nﬂ Dverhaul ‘
) Mmlmum Repalr andpverhaul

‘amtenance is to ensure, «
b) ‘Safety
~d) Cost

% % k% %

BARsSEC

b) Layer mam l Qgcturmg
d) All o% 'hese :

bmmermal aucraﬁs" il g B
: d) CASA g T

‘%

b) Overhaul E‘q ment Manual
d) None of these e

Airworthiness D1rectlves Qf USA?

°) ICAO d) FAA

b) Manual }‘Ianmng Document
d) None of these
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